That is why assembly is so easy :

1.

Screw the upper and lower pivot in
the outer door top edge and the
door lower edge at both door wings.

Choose distance A basing on the door
thickness (see table).The right rotation
distance B results of it (distance between
door frame and door wing).

Mount the screw in the middle of the
endlogated whole of the lower pivot plate.

. Screw door bearing at bottom beam

at door frame.

. Insert the door in closed position in the

door bearing at bottom beam. Put the door
bearing at upper beam on the pivot of the
upper door.

Distance C has to be minimum 10 mm.
Place the door leaf vertically, then mark
the screw wholes of the door bearing at
upper beam and screw it in tight.

. Adjust the door with the adjusting screw

(in the enlogated whole of the lower door
plate).

Attention: Between the two door wings
has to be minimum 3,5 mm air space!
The door wing is lifted up 10 mm.
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The door wing will
be lifted up by
rotation about

10 mm.

door thickness | distance A | distance B
in mm in mm in mm
19 22 6
25 21 8
29 19 10
35 16 13
44 10 19

Attention:

The air space
between two door
wings has to be
minimum 3,5 mm.




